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Punnett square worksheet
Complete the following monohybrid crosses: draw a Punnett square, list the ratio and describe the

offspring. Be sure to remember that the capital letter is dominant.

Example)
A green pea plant (GG) is being crossed with a green pea plant (Gg) yellow is the

recessive color.

G G
Genotype= 2GG:2Gg;0gg
G GG GG e .
i - g G; o (“;g I;Henotype= 4 Green pea plants: 0 yellow pea plants

1) A green pea plant (Gg) is crossed with a yellow pea plant (gg).

Genotype=
Phenotype=

2) A tall plant (TT) is crossed with a tall plant (Tt).

Genotype=
Phenotype=

3) A tall plant (Tt) is crossed with a short plant (it).

Genotype=
Phenotype=

4) A red flower (Rr) is crossed with a white flower (rr).

Genotype=
Phenotype=

5) A white flower (1) is crossed with a white flower (r1).

Genotype=
Phenotype=
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6) A black chicken (BB) is crossed with a black chicken (BB).

Genotype=
Phenotype=

Punnett square problems continued

Complete the following problems. List the parent genotypes, draw and fill in a Punnett square, and then list
the offspring genotypes and phenotypes.

———— I~ —Ahomozygousdominant brown mouse is crossed with a heterozygous brown mouse (tan is the B B
recessive color).

Genotype=
Phenotype=

2. Two heterozygous white (brown fur is recessive) rabbits are crossed.

Genotype=
Phenotype=

3. Two heterozygous red flowers (white flowers are recessive) are crossed.

Genotype=
Phenotype=

4. A homozygous tall plant is crossed with a heterozygous tall plant (short is the recessive size).

Genotype=
Phenotype=

5. A heterozygous white rabbit is crossed with a homozygous black rabbit.

Genotype= - .
Phenotype=
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Punnett square worksheet
Complete the following monohybrid crosses: draw a Punnett square, list the ratio and describe the
offspring. Be sure to remember that the capital letter Is dominant.

Example)

A green pen plant (GG) is being crossed with a green pea plant (Gg) yellow is the

recessive color.

G G
Genotype=
G GG GG
g Gg Gg

2GG:2Gg;0pgg

1) A green pea plant (Gg) is crossed with a yellow pea plant (gg).

Genotype= 2_ (p% ; 2‘5‘3

Phenotype= Lapwn * 2 yellow

2) Atall plant (TT) is crossed with a tall plant (Tt).

Genotype= L TT: e
Phenotype= q ‘l’k“f ¥,

-

3) A tall plant (Tt) is crossed with a short plant (it).

Genotype= L T% 5 Lte
Pl?:r?oty;F 142 ghort

4) A red flower (Rr) is crossed with a white flower (rr).

enotype= 2L K 7L 4
I(’}henct)yt}lf)pe= 2 Red: 2 while _ ¢

5) A white flower (r7) is crossed with a white flower (xt).

Genotype= Yoene 4
Phenotype= Y while:O

_Phenotype= 4 Green pea plants: 0 yellow pea plants
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6) A black chicken (BB) is crossed with a black chicken (BB). B 8

Genotype= Y BRBIO 8 |BB BB
Phenotype= L‘ B\CLL‘Q?D 8 aR "

Punnett square problems continued

Complete the following problems. List the parent genotypes, draw and fill in a Punnett square, and then list

the offspring genotypes and phenotypes.

recessive color).

prow™

T -‘fu\.\\
L S\"’/‘Jf

B B
Genotype= ’LBB"Q'SE’

Phenotype= Y Rownt0 ' B Bp BB

bigp [eb

2. Two heteroz.;gous white (brown fur is recessive) rabbits are crossed.
: bk 3y
Genotype= I'WW fin M/UJ WuA
Phenotype= 3 Whily | Brown U w

ol
s o

3. Two heterozygous red flowers (white flowers are recessive) are crossed.

Genotype= IRK ;L Reiler : K r
Phenotype= &% &d’\ww{‘b P\ \ KK Rr

4. A homozygous tall plant is crossed with a heterozygous tall plant (short is the recessive size).

, T+ t
Genotype= 2717 '.ZT'E ]
o 7B

T [T
Wioty

v .
5. A heterozygous white rabbit is crossed with a hqg%{o_jz_){g_q_qs_pl_@l_c_x-gpb_lt._

e

e Jn ¥

A\t

. Rk

I-—Arhomozygous dominant brown mouse is crossed with a heterozygous brown mouse (tan is the

“Lww
Genotype= /5 W"'{' : . w
Phenotype= 2_ While 5 2 Rlack \/\/
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